Inter (Part-Il) 2019
Mathematics Groun-! PAPER: I
Time: 30 Minutes| (OBJECTIVE TYPE} | Marks: 20

Note: Four possible answers A B, C and D toc each ¢ u'=5u.on
are given. The choice ,/hxch you think is correct, fili that
circle in frent of that question with tarker or Pen ink in
the answer-book. Cutling or filling two or mors circles
will result in zero mark in that question.

1-1-  The solution set of the inequality ax + by < ¢ is the:

(@) Parabola (b) Half plane v/
(c) Circle _ (d) Hyperbola
2- If m, and m, are slopes of two paraliel lines, then:
(a) m, m,=-1 (b) m, =-m, ‘
(c) my=m, v (d) m;m,=1
3- jxk=:
(@) i (b) k
: (c) —i (d) iv :
4- A linear equation in two variables represents:
(2) Ellipse ~ (b) Arc
(c) Circle - (d) Straight line v/
5- If the dot product of two vectors is zero, then the

vectors will be:
(a) Perpendicular ¥ (b) Parallel

(c) Collinear (d) None of these
6- Mid-point of the line segment joining the points (2, 0)
and (0, 2) is: '
" (a) (0,0) (b) (2,2)
() (1,1) v (d (3,3)
. x2 y? _
7- The foci of the hyperbola ad bZ = 1 are:
(a) (0,%c) (b) (1, 1)
(©) (£¢,0) v - (d) (0, 0)
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10-

11-

12-

" 13-

14-

15-

Directrix of the parabola x? = 4ay is:

(@) (a, 0) .. (b) (-a,0)
(c) (0,-a) @0V
The slope of the line through the pomts (1, 5),. (5, 1)
is:
(a) av (b) 1
() O | (d) -9
The radius of the circle (x — 5)2 +(y - 3)2=9is:
(@) 3V (b) 5 -
() 9 (d) 0
Ify =e®, theny,=:
~ (a) ex. (b) 2e*
(c) 4e> ¥ - (d) 168>

f(x)=ax+b,az0is:

(a) Trigonometric function
(b) Linear function-v

(c) Cubic function

(d) Quadratic function

| a*dx =
Ina a*
(8) " x 1@ () jna * ¢ 14
1 .
{c ( x +
() 2Ina (d) a*ina+c

: dy -2
Thevalueofa‘l{=? at x—-—1 is:

(a) 4 )5
" (c) -2 S 2vY

Order of the differential equation 552! + % —2x=0is:
(a) 1 (b) 2¢

(c)-3 . (d) 4
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16- . Iff(x)=cosx, thenf(n)=:
(@) 1 B (N R
(©) -1 - @2
w2 . : :
‘AT~ Io cos xdx =
@i e
© -1 @1y
e e
18- '41,"39.(1 + n) | =: |
(a) e (b) €2
(c) eV (d) e
-19- - Differential of y is denoted by:
@ 5  m Y
() dx (d) dy’
20- é’;[sr(x)]:':
(@) 5Fx) Y . (b) 5 |
©f) (B
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